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1.. ‘He a picture of himself for the one already attached to the form.
(A) contributed (B) substituted (C) constituted (D) instituted
2. Companies who want to sell their products have to their products.

(A) convince (B) purchase (C) advertise (D) repeat
3. Itis possible to make an insurance claim for any goods lost or damaged in
(A) transfer (B) transit (C) transmit (D) transform

4. Although she has told her brother  times to brush teeth before going to bed, he still refuses to do it.
(A) numerous (B) various (C) numeral (D) plenty A

5. The __ ofalcohol is not allowed in the party but other drinks available.
(A) demand (B) customer (C)want (D) consumption

6. ____,the most popular term used in Morse code is SOS—the sequence used to request help.
(A) In the longrun  (B) Without a doubt (C) All at once (D) No wonder

7. The company asked Jane to leave; | she was fired.
(A)in fact (B)in addition (C) in other words (D) yet

8. There are still a few issues weneed to __, like how often to ship your merchandise.
(A) strike a bargain  (B) seal the deal (C) look forward to (D) iron out

9. Most people in Taiwan can’t _____ air conditioning in summer since they are used to it.
(A) do without (B) do with (C) run out of (D) shut up

10. Tt is customary for the Japaneseto _their shoes before entering the house.

(A) kick off  (B) play off (C)dressup (D) take off
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I1. The store clerk ____late for work, but because of the heavy rain, she was delayed an hour.
(A) hadbeen  (B) hasbeen (C)had neverbeen (D) has never been

12. The defendant’s attorney persuaded the prosecutor the charges against her client.
(A) who drop (B) drop (C) dropped (D) to drop

13. For most people, swimming for over two hours _ strenuous.
(A)are (B)is (C)have (D)has

14. Ms. Klein’s manager asked her to entertain their foreign clients, and _ made her upset.
(A) that (B) which (C)who (D)whom

15. If Mary visited Scotland, she the Edinburgh Castle.
(A) visited (B) visits (C) could visit (D) could have visited

16. _ which way to take, I asked the policeman for help.
(A) Knowing (B) Know (C) Not knowing (D) Not know

17. The policeman suggested that the bus driver  another route because there had been an accident on the road.
(A) take (B)totake (C)takes (D) taking

18. The rise in commodity prices,  with the economic downturn, makes people’s lives harder.
(A) couple (B) coupled (C) coupling (D) couples

19.  along the riverside, Helen lost one of her earrings.
(A) Anywhere (B) Everywhere (C) Nowhere (D) Somewhere

20. When you return home tonight, dinner by me.
(A) will have made (B) will have been made (C) has made (D) has been made
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A: John, I’ve got to tell you that recently your work is just not up to the company’s expectations.

B:

(A) Yes, I’ve worked too hard these days. (B) But, what do you expect me to do?

(C) But, I follow all the rules. How can you say that? (D) Yeah, I know. I think they are thinking of my layoff.

A: We have yet to receive information regarding your company’s year-end party.

B:

(A) So, welcome to join us and have fun. (B) Really? I’ll send you the invitation card as soon as possible.
(C) Yes, it will be held this coming Saturday. (D) So, do you have any good idea about it?

A: If you’re going to the party on Friday, can I hitch a lift with you?

B:

(A) Yes, I'm going to the party. (B) Yes. I don* mind giving you a ride.

(C) No, you can’t do weightlift at the party. (D) No, I don’t like hitching a ride.

A: What are you going to do for the holiday?

B:

(A) I just plan to take it easy. (B) Aren’t you going to visit your grandparents?

(C) Sounds good to me. Are we ready to eat? (D) Yes, I have a good idea for you.
A: I’'m going to call Jack to cancel our date.
B: Why? You’ve been excited about it.

A: I can’t go out with this stain on my blouse.

B:
(A) No one can see the stain. (B) I can go with you.
(C) Are you serious? It’s barely visible. (D) You can’t be more surprised with it.

A: Peter was roughly fifteen minutes late to the class.

5
(A) Yeah, he has been having a hard time recently. (B) Well, it is a bit of a rush to go to class in fifteen minutes.
(C) I know. He was right on time. (D) Yes. He was about that late.

A: Will you go to Debra’s birthday party with me this coming Saturday?
B: I’'m not sure. I have to check it out on my schedule.

A: But, I need a response by tomorrow.

B
(A) OK. You can go by yourself. (B) Well, that will be a good answer.
(C) Well, I will let you know by then. (D) Then, send out a quick response as soon as possible.

A: Good morning, Ma’am. How may [ help you today?

B: I would like to open a small bank account with your bank.

A: Sure. Which one of our bank accounts are you interested in?

B: I want to open an Automatic Transfer Service Account.

A:

(A) It is an interesting account. (B) We will be able to offer you a year loan with a 2.5% interest rate.
(C) You’d better have a Savings Account. (D) All right. Please fill out the attached form.

A: Ann saw no benefit in arguing with her boss.

B:

(A) Yes, she is so brave to speak up her opinion.  (B) Right. That’s why they couldn’t get along.

(C) Yeah. She prefers fighting with others. (D) I agree. It won’t help her in any way.
A: I had a sneaking feeling that Eva wasn’t going to go for it.

B: Why would she pay for it? The product’s of poorer quality and twice the price.

A: But this model is much more fashionable looking. B:
(A) You’re right. The price is too high. (B) You’re putting too much emphasis on design.

(C) Yeah. This is exactly what she has been looking for. (D) No. Its quality doesn’t meet the requirement.
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(31) the increasing population and problems (32) climate change and environmental pollution growing more serious by
the day, (33) the population worldwide now faces serious water shortages. The fact that water is likely to become a (34)
resource also means that related industries will be in great demand. As economists (35), water resources are set to be one
of the most important investment opportunities of this century.

31. (A) With (B)As (C)On (D) For

32. (A) for example (B)asfor (C)suchas (D) asmany as

33.(A) athird (B)third (C) third of (D) a third of

34. (A) scarce (B) shortage (C)want (D) plenty

35. (A) argue with  (B) indoubt (C) point out (D) call on

“Sorry for keeping you waiting. I left my cell phone at home, so I went back to get it,” John (36) Mary after arriving forty
minutes late for his first date with her. Trying to be polite, Mary forced a smile and said, “It’s all right. Let’s order
something to eat.” (37) they waited for their food to be served, Mary found that John had been checking his cell phone
and (38) text messages. Before she could ask him what was going on, John’s cell phone rang, and he answered it
immediately. It seemed that John was more interested in having a conversation with the person on the phone—he talked
endlessly and laughed loudly (39) Mary, who was sitting right in front of him, were invisible. Fifteen minutes later, when
John finally hung up and turned back to Mary, he saw (40) a furious face. “Why don’t you date your cell phone?” Mary
raged and stood up, “Don’t ever call me again!”

36. (A) appreciated  (B) was satisfied with  (C) was worried about (D) apologized to

37.(A)As (B)Assoonas (C)No soonerthan (D) Because

38. (A) was sending (B) sending (C) has been sending (D) sent

39. (A) no matter how (B) asif (C)notuntil (D) although

40. (A) nothing but  (B) no more (C) better than (D) anything but
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Windshield wipers of a car were invented by Mary Anderson on a trip in New York City in 1903. While touring the city
on a streetcar, Mary was not interested in the views on the streets. Instead, she paid much attention to the streetcar
motorman. Repeatedly, the motorman had to get out of the streetcar to wipe off the snow and ice collected on the
windshield. New York streetcar motormen at that time had tried various ways to solve this problem. Wiping off the
snow and ice by hands, however, seemed to be the only solution. Mary, sitting on her seat, quickly drew her device in
her sketchbook. Her solution was simple. Mary’s device allowed the motorman to use a lever inside the streetcar to
activate a swinging arm on the windshield to wipe off the snow and ice. Because the device was first designed for cold
weather, it could be easily removed when warmer weather arrived. Its function of wiping rain was later considered and
added. Even though her friends teased her about her awkward invention attached to a streetcar, Mary didn’t give in to
peer pressure. A year later, she received a patent for it. By 1913, her invention became standard equipment on American
cars. Windshield wipers save lives and make it easier to drive through storms.

41. Which of the following is the best title for the passage?
(A) The Invention of Windshield Wipers
(B) The Functions of Windshield Wipers ,
(C) How to Solve the Problems of Windshield Wipers
(D) Streetcar Motormen in New York City in the Early Twentieth Century
42. Which of the following statements is NOT true?
(A) Mary Anderson is the inventor of the windshield wiper.
(B) Mary Anderson came up with the idea of the windshield wiper while she’s visiting New York City.
(C) Mary Anderson applied for a patent for the windshield wiper in 1913.
(D) Windshield wipers were first made for use in winter time.
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43. The expression “didn’t give in to peer pressure” in the passage refers to the fact that
(A) Mary Anderson once gave up the idea because her friends didn’t support her.
(B) Mary Anderson didn’t feel stressful even though her friends didn’t think her invention was a good idea.
(C) Mary Anderson’s friends didn’t expect that her invention could become standard equipment on American cars.
(D) Mary Anderson didn’t get involved in the arguments among her friends.
44. Which one of the following has the same meaning as the word “tease” in Line 9?

(A) annoy (B)amuse (C)appraise (D) admire

Unlike any earlier building complex anywhere in the world, Rockefeller Center in New York City was built, not as a
place where people could live, but as a city in which they could work. It was the biggest building project of its kind, a
city within a city, and the forerunner of projects that have sprung up all over the world. Thirty architects, 1200
draftsmen, and hundreds of other artists and technicians were employed just to draft the plans. Before the buildings
could be erected, 229 old buildings had to be emptied of 4,000 tenants and razed. Just to buy up the leases took over two
years and cost over $6,000,000. The unusual shape and setbacks of the seventy-story RCA building resulted primarily
from practical considerations such as lighting, the movement of people, and the building’s services. The lower
concourse and basement level were set aside for shops. A sunken plaza, complete with gardens and fountains, was
designed to provide access to these shops. Today the plaza, which is used for ice-skating in winter and dining and

dancing in summer, is one of the center’s most popular attractions.

45. What is the main idea of the passage?
(A) The importance of a pleasant work environment
(B) The purpose of the RCA building setbacks
(C) The architectural significance of Rockefeller Center
(D) The recreational facilities at Rockefeller Center
46. According to the passage, Rockefeller Center was originally planned to serve as what kind of complex?
(A) Commercial
(B) Housing
(C) Tourist
(D) Recreational
47. According to the passage, which of the following is true of Rockefeller Center?
(A) It was patterned after an ancient design.
(B) It has been imitated numerous times.
(C) All shopkeepers were required to take two-year leases.
(D) Four thousand tenants are located in the complex.
48. The sunken plaza at Rockefeller Center was originally designed as
(A) an ice-skating rink
(B) an outdoor restaurant
(C) a tourist attraction
(D) an entrance to shops
49. According to the passage, what does the shape of the RCA building reflect?
(A) City regulations
(B) Practical considerations
(C) Decreased space needs
(D) Architectural creativity
50. According to the passage, which of the following had to be done before the actual construction of the complex could
start?
(A) Six million dollars in rent has to be collected.
(B) Over four thousand workers had to be hired.
(C) Over two hundred buildings had to be torn down.
(D) The future occupants had to be put under contract.




